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SECTION A — (10% 1 = 10 marka)

Anewer ALL the questions.

When do ionic compounds conduet ehoetricity?
al  Ingmsnoin stags
b} When dissolved in water

=) Tnsalid stoks

(d}  They nover condyet

=

The frat Brillouin 2one of bee Inttics ia
fa)  Rhombic dodecahedron

(b}  Rhombic decabedran

i) Truncated decabedron

i) Truncated octahedron

In which of the followmng, the magnetic moment is
=010}

(&) DNio-magnetic material
(bl Parra-magnetic material
{ci Ferrnmagnetic material
(d] Ferrimagoslic material

E What ie the materinl used in two part devaes?
(a} Ferromagnets
ibi Ferriies
(e}  Antfervomagnats
{d)y Paramagnels
ik

Meissner effect oceurs in supereonductors due o
which of the following propertics?

{a) [Dinmagaetic property
(b  Muognetic property

£} Paramagnctic property
Wi Paramagnetic property

1 Which of the following moterinls

exhihit
Fermo-electreieiy'?
{al Iron b} Platinum
(e} Hydrogen iy Bochelle salt
a S.No. 811

13

13,
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The number of optical phonon benoches for twg
Atafns in the primitive oeil n

in} 1 b} 2
e A (dy @

The classical ¥alue of molar eloctronic apecific hani,
L

LETI W) thy B
faf AR My 76
ITE, ! nnd B are Hall fisld, current denaity and

magarti finld sirength, then Hall comstanl s
Rivan by

{m) R,‘.-f'%_ b Hnr%
e} H"'=EH_J {d} Mome of the choices

The fres alsctron thoeory could Aot explain whick of
thn follivwing proporises?

{a} Electrical wnd thermal conductiviey of metals

(b Thermol and thermal condwctivity of bon-
mtal

gy FPorromagnetiom
¥y Ohm's law

a 8.Ma. 311

SECTION B — (G « &= 26 marks)
Answer ALL the guestions.
() What s tonic bond? Give any four properties,
Or
(bY Explain the reciprocal lattice for bec lattice.

fa}  What are phonons? Dhiscuss the momentum
of phonona.

Or

by Derive the oxpression for the apecific heat of

salids using Flnstein's modal.

lnf  Btate and prove Bloch's theorem,

Or

(ki Sb_ate nwnd exploin Wisdemann Franz law.
Give the sgnificance of Lorontz number.

(o} Explain  Langevin's classical theory of

dismngnetism.
Or
(b) Write a note on ferromapnetic dotma
bieelny En# muain and
4 S.Nao. 311
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GOVERNMENT ARTS AND SCIENCE COLLEGE FOR WOMEN-BARGUR odd cem.

DEPARTMENT OF PHYSICS
CYCLETEST -7

SUBJECT SOLID STATE PHYSICS

TIME: Zhr —
K550

L. Define primitive Lattice, i
2. Define packing fraction,

3. State MOSLEYS LAW

£. What are the uses of X-RAY diffraction method?

5.Write about grain boundaries

& Define magnetic susceptibility.

7. Defing superconductivity,

ILANSWER ANY TWO QUESTIONS BERIFLY [2%5=10)

B Listout the crystal structure in detail{table |

8. Explain FCC structure y
140, Explain screw dislocation with suitable diagram

11 Explain Quantum theory of ferromagnetism

i ARSWER ANY TWO QUESTIONS IN DETAIL (3x10=30) i
12. Explain simple cublc structure. ]
13. Explain rotating crystal method of X-RAY diffraction +
14, Langevin theory of diamagnetism and paramagnetism

15. Explain the types of superconductors

i e 1o a @& t O ad L.
*5214 OF SUBJECT INCHARGE NG oF Hoo o | 12|
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GOVERNMENT ARTS Anp SCIENCE COLLESE FOR WOMEN
CYcucTesST - T,
BASIC ELECTRONS

BURGLR

l=g5c

SECTION A - (532=10)
ANSWER ANY FIVE CQUESTIONS:

L.Write any two applications of phota dioda.

LWhat is a varactor disde,
3.Deflne stability factor,
4.What is MOSFET?
5.What are the types of multivibrators?
SECTION B —{4x5=20)
ANSWER ALL THE QUESTIONS:
B. &) Briefly discuss the theory, construction and applications of LED with suitable diagram.  [or)
b} Expkain the construction, operation and applications of Schattky diode.
7.a] Discuss abewut three types of configurations for operating a transistor. Obtain expression for o and 8§
{or}
b} Explain base resistor method of transistor blasing.
8.a) Describe the working of common source IFET amplifier. (o]
b} Deseribe the operation and V-l characterlstics of SCR.
3.a) Explain the working and frequency response of a transformer coupled amplifier. (or)
b} Explain the working of Hartley oscillator and obtain expresslon for its frequency of escillation.
SECTION C = {2x10=30)
ANSWER ANY TWDO QUESTIONS:

1. Discuss the construction and V-1 characteristics of tunnel diede with tunnel theory.
2. Explain the operation and characteristics of JFET and IFET parameters,

1"5'{5' Y- ﬂmﬂ
k..waﬂL‘:z-fre.ﬂLu | beod LL} UHGA&MWE
Guligeck Treberge
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GOVERNMENT ARTS AND SCTENCE COLLAGE FOR WOMEN - BARGUR
DEPARTMENT OF PHYSICS 1 1M SC PHYSICS - MODEL EXAM
FUNDAMENTALS OF COMPUTERS AND COMMUNICATION

TIME : 3 HRs MARKS
T8 MARKS

PART - A 18X 1=1%
1. Which of the following is the correct definition of compater?

(2} Computer 2 a machine or device thit can be programmed (o perfarm arithmedtical oF logic
OPCraliM sguenecs astomatical.

{h). Computer understand only binary languige which is writlen in from of s and Is
(c). Computer is a programmuable electronic device that stroes retrives and processes the data
{d). Al of the mentoned.

2 Which of the following unil is responsible for converting the data received fron the user mio &
computer understandable format?

{a). Output unit (b). Inputunit {c). Memory Unil (d). Arithmetic and [ogic ufit
3, The physical components of a computer are called?
{a). Sofiware (b). Hardware (c) ALL (dy, CPLU
4 Mouscisknowas
{a}, Pointing device (b). Control device (¢). Monitoring device {d). Gaming device
5. A scanner looks lilkea  machine.
{z). Tvpe machine (b). Franking machine {c}). Photocopier (d). Cyclostyle
&, Which of the following is a temporary output?

{a). Hard copy ib). Sollcopy (€). Duplicate copy (dr. On paper
7 Which of the following is nol an operaling system?

(=), Windows {b). Linus {c). Orncle (d),  DOS
8 A isasmall program that tells the operating system how o communicate with a specilic
device.

(a). Buffer (b). Driver {¢). performance monitor  (d). device

9, which of the following is nol and operating system?
{g). windows {h). linus (). mracle (). [DMOS
10 Internet is

(a). A worldwide interconnected network of compuiers which use a commain Fm to
communicate with one another. (b). A worldwide network of computers (¢). An interconnected

network of computers (d). A local computer netwaork



11 A 1 mweh application that comhbines services fiom tweo oF more SOUrCes Creating & new
application

{a) Document management system (b). peer-1o-posr network (¢). weh services (d). Mashup
12 Which of the following is a type of wircless communicition
{a). LAN  (b)h WAN {c) PAN (d) Adl of the mentioned
13, When an organization uses  many programs ind nser share the data in the databuase
(a}. adata model  (b). @ file processing sysiem  (c). 8 database approach (d). a chek digit
14, The database Amalysi DAy -
(a) monitors the performance of the database  (b).creates & maintances the data dictionary
ic) decides on the properplacement of fields  (d) checks backup & recovery procedures

15,  involes the examination of computer media, programs, data & log files on camputers,
servers and network.

{a}. Encryption key  (b). email filtering (&) digital forensics  (d) rusied sources
PART-B 2X5=10

ANSWER ANY TWO QUESTLONS
6 List nnd deseribe the five components of a compulers,
17 What are ihe various type of printers?
18 What are (eatures of windows 7, Mac (05 X, UNX & Linux operating system!
19 Discuss about the purpose of computer sofiware,
20t How do intersct with web database?

PART -C
ANSWER ALL QUESTION

EX1i=50

21. {a) Explain the system sofiware and application software. Give the differences between the
svatem and application softwane ()

b} Ulustrate the mobile computer and mobile device
272, {a) What is input device? Explain the keyboard and pointing devices. (OR)
(b} FExplain the varous display devices. what are purpose of speakers and headphones?
2% (a) Define operating system. Explain what the functions of an operating system  (OR)
(hy Discuss about the graphics and mullimedia programs

24.4a) Mustrate the World Wide Web, [ OB} Explain the various physwcal and wircless
trunsmission media

35 (a} hszeus aboul database management svstem  [OR)

(b} What are techmiques to prevent unanthorized access and use? Explain
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CYCLE TEST -1 (Nov-2021)
} COMMUNICATIVE ENGLISH -1L
1 Maximum: 50 marks
(PART- A) (10 x 1 = 10 Marks)
Choose the correct answer from the given options.

1) Self Introduction means introduging ——-—--——
a) Another b) Onesell  ¢) Neighbor

ime: 3 Hours

2) In Self-Introduction an interviews--——- - 15 assessed.
a) Languape Skill b) Dressing ) Facial Book

3} Short Vowel sounds have just--—— parts.
a)Two b) Three ¢ one

4) Heat up the water i5 a=---—
a) Pan b) Can c) Ban

5) Plato was an influential Greek Philosopher the name Plato was «---- — hon.
a) Common  b) Abstract ¢ Proper

6) A Pronoun is used for all 3 persons (1%, 2%, 3¥) is known as ----- Pronoun.

a) Emphative b) Reflexive ¢) Personal

71 A dictionary is of immense value in building your--—.
alVocabulary b) Writing <) Reading

8) There is no singular form for—-.
a) Cattle b) Furniture c) Baggage

b refers to the process of reading.
a) Scanning b) Skimming ¢) Intensive
10) ——=memmem gives list of reference.

a) Thesaurus b) Encyclopedia c) Dictionary
(PART- B) (2 x 5= 10 Marks)
Answer any TWO of the following questions.

1) What is listening?

2} Write a note on Tone?

3) What is Thesaurus? How do we use it?

4) Describe to your partner. your favorite dish, how it is prepared and how 1t tastes?
(PART-C) (3 x 10 = 30 Marks)

Answer any THREE of the following questions.
1) Write an essay on “How to use an Aftention grabber™
2} Write an essay on “Listening for specific Information™?
3) Write an essay on “Dairy Writin g7
4) What is a noun? What is its type?
5} Write an essay on “How to form Plurals™?
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(For the candidates admitted frem 2009-2020 anwards)
M.5c DEGREE MNJI'LTTD'N. JUNE 2003
Fourth Bemester
Physics
COMMUNICATION ELECTROMICE
Time ; Thres hours Maximum : 75 marks
PART A — (15 = 1 = 15 marks)
Answer ALL the questions,

1. It & eky wave propagatanm, which of the following
fraguency will be suitable for beyond the horizon

mmmun.i.:a.tiuu'!.
im} 1kHz ity 10 kHz
e} 100 MHa iy 1000 MHz

= The secant law is the relation betwesn Maximuem

T

8 Time diviston multiplexing is used in

Usable Frequency (MUF), Critical Frequency (CF)
and incident angle {th apd is written el -

(0} MUF-CFieost (b) MUF=CF*costl
(&) CF=MUFiecosd (d) CF=MUF*cosd

spubmaring calile roponter conlains
among other equipment

{a3  Pilod injected pilot extract eepipoment

by Filters for the two directions of Lransmi=arn

i) Multiplexing and demultipbexing equipment

i) A de power supply and regulator

: A

i) Digital elreuit
pultiplier circuit
amplifier is  widely uged 0

teanspondar o provida the finel output power
required ta the trans tube and its power supplies.

{a) Hlyetron ) MASER
el TWT (dl Cunn diode

() Analog cirouit
() Maodulation carcukt (d}

io,  [fthe peak transmittod pawer in a radar system is

1L

ineropard by & factor of 81, the maximum rAngs

will be incroased by o factor
{a) 3 (b} 9
() 27 ) 3

Which of the [ollowing communication

transmission media is open space or free space?
(a} Line (k) Radio
ie)  Transmetler (d) Al the above

3 S.No. 120

p i

13.

L4

1.

When a wave is reflocted in angroundiod s,
ita polarity is changod by

(mj ©F fhy
fe)  LEOE i L

The modulation systom which in kberently ot
Nl -rARIELANL 38

(nd  Fregquency Modulation

by Puilee-Posdtion Modalation
gy Pulso-Width Modulation
[y  Pulse-Code Modulation

A band pans signal extends from 1 KHz to 2 KHz.

Then the minimum sampling frequency that is
npeded Lo retain all information of the s bl

abgnalis KHax
() 1 thy 2
ey A (dl 4

o comimuication syatems, noise s most liksly to
affeet the signalat -

{ny The tennsmitier

(b The channel

gy At the destination

(di  The information sours
] g No. 120

Televigion transmission commuanicsion GCELrE in
direction anly.
{a}  Ome (b} Two

{e} Thres {d)

Fomur

The cutoff wavelength for the dominsnt mcde
(TE} in the cylindrical waveguide is (here r is

rading) I
(m] A.ldr

€ 214 i)
Light travelling in an optical fber follows the
principle of ;
fa) Huygens principle () Light theory
i) Fermat's principle (d} Snell’s law

(b} S4lr
B4l

The use of orbiting satellitcs Lo recoive, amplify
and retrapsmit dais to earth stations 18 defined as

{a) Optical communication
& Digital communicalion
i) Satellite commumestion
idy  Apalog communication

i S.No. 120
PTO)
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1.

P
MT‘H—!,R BB o= 0 marlg)
Answar any TW Hitentinn.,

G
VOO Boeaimgi of a sk dapole antonin,

Discuss iy
techmnigug, PEM  delta  modulmtion

Writs shory

B “m:ﬂ rodn of magnelron  for
Explui | ;

tutl ™ the working Principle of delin LR LT AT

Defive (m) Aee
eptance sngle and Y Mom
erien |
Bpertire in optical fibms COTR MmN eatinns. B

FAETC-—[B'-c 10 = &0 marks)

Answer ALL the quentiomns,

) Explain how will you distinguish botwesin
Eroundod pngd ungrsunded nnlennne withy
relevant dingrams,

. Oy

b

Discuss Ecles and Larmor th
eory ol
Bropagation, e

5.Ma. 120

il

24

b

{1

n}

i

(i)

)

fn}

(b

v
Jmim I
i mﬂ, HIF @
Wikl s "[“'d.ml-]:::“mnml 1|u-ll.‘.‘1'|h"
i H i 1.
1:::1‘».“;1-. for 0 PAM nigna
i ad
prak ®
Wratn datmilal noios ok FH'H:'
AR
(]
With n  neat  dingeam, explaif IJ:
eonabraetlon. mnd  working of o ™

klyukervn

Che

Ihstinguish  botwesn conmial cables v
uibimnrine onlilen,

Darive ihe WADAR weunthsn and At rinko
RADAR performanee factors

by
Discusn working and operation of a eolour

TV tranumission sl reception syetem and
draw n nomt bleeh disgram.

Wrile briof noton on step index and graded
indox fibres wod denw rolevont dingrams

Oy

Hightight the solisnt festurss of [NSAT
eHmmunicalion satellites

S.MNo. 120
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DIGITAL ELECTRON 1CS - M

i -1 -
TIME DURATION: 3 HOURS f"_ B-2c TS

MANMARKS = 78 MARKS

PART- & (15x1 =15)
Answer all the questions

I. The binary equivalent of the decimal number 10 js
a) 0010 B 10 ) 1010 dy 010

2. The number 251 in decimal System is expressed in binary system by
a 11110111 b 1111011 ¢ LITLIII Ao vttt 10

3. Convert 48 decimal 1o binary

a 10110 b, 110000 . 101000 d. 101000
4. I the 1-K flip flop is treated as input and inverter is connected between
Jand K inputs, J.K flip-flop becomes-—--—-
AT-flipafiop b D laich . R-3 flip-flop d. D- flip-Aop
3. Master-Slave configuration is used in FF 1o
a. increase its clocking rate b, reduces power dissipation c. eliminates race around
condition d. improves its readability
6. When two asynchronous active low inputs FRESENT and CLEAR. are applied to a J-K flip
flop the output will be
a. 0 b. Undefined ¢. Previous stated, |
7. Logic gates required to build up a half adder circuit are

a, Ex- OR gates and NOR gates b. Ex-OR gate and OR pate o. Ex-0OR gate and AND
gated. Ex-NOR gate and NAND gate

8.A(A+B) =7
aAB b1 e { I+AB)d. A

9. The logical sum of two er more logical product terms is called —--——
4. 50F b. POS  C.OR operation J. NAND operation

10. There sre

a.0b 2c.8d.1
I 1. The enable inputs is also known as ——--
a. Select input b. Decoded input c. strobe d. sink
I2. Which one of the following is atype of combinational cireuit?

Minterms for 3 variables (a.b.c)

£ e




. Above
. Demultiplexer b. Multiplexer €. Raih a and b d. None of the abow

13. The encoder, multiplexer, decoder, multiplexer are wiimphes (5
circuit.
& Sequential cirouit b, Combinational circuit c. Both wand b1 Ham of (et

14. In which operation carry is obtained ——--
a. Subtraction b, Addition ¢. Multiplication d. both a and b
15. Half subtractor is used to perform subtraction of -——-——
a 2 bits b3 bits ¢ 4 bits d, 5 bits
PART-B 235=10
Answer any wo questions
o Stte & prove De - morgans theoram.
I 7-Simplify the following expression using K- map Y=F(A.B,.C.D}=Y
(0.1,3.5,7.9.11.12,13,14.15).
18, Explain the function of half subitractor with truth table.
19. Drraw a circuit of 4 bit shift right register and list out the outputs produce by ji.
20. Explain the circuit and the working of a 3 bit binary [VA converter.
PART-C X10=50
21. (a).Draw the symbol and write the truth table of NOR gate. Show that NOR is universal
building block. OR '
(h)Discuss the binary number system,

22 aj E:!(Piam on the fﬂ!lﬂwi_n R .
g Whatisa k 7 9 - ) 1
l.IEJ-.I']E k'ﬂ'lap. map ImPIIﬁr the fol lﬂwu']E EXpPression

ii}'l"'=FfA,B.E,D}'-E{ﬂ,l11,3_.4,613,9.15, 11.12,14y OR
variable k-map

|

(B)Explain 3 variable and 4

23 , i|Explai
ra ¥short note on i)Explain the function of full adder with truth table
1) Explain BCD to 7 segment decoder, {OR) |
b) Explain the muls plexer and demultiplexer

24. 2) |)Explain clocked R.S flip fop and D-fip flop. OR

.II :

: I f i

1) Explain the fpple counter, (R

by i) DifFere
NDifference biw s¥ynchronous apy asynchrongys

*plain successive Spproximation A/ Analog to Digita) (9 Vhnti ot by comte (1"]
igita

converter.

0, 9" LR
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(For the candidates admitted from 2019-2020 onwards)

B.Sc. DEGREE EXAMINATION, DECEMBER 2022.

Fourth Semester
Physics

OPTICS

Time : Three hours Maximum : 75 marks

SECTION A — (15 x 1 = 15 marks)

Answer ALL questions.

Michelson's interferometer works in the principle

of
(a) Diffraction (b) Interference

(¢) Polarization (d) Specific rotation

awsGasasaflear  @Gn&SL_(Heleneraywmreafl
ssmeussle) Geuane Gawdlpg

(=) eflafliby eflenemey (=) GMESE cSlevenay
(@) s edlenarey (F) @Ol &phél



Fabey perot interferometer is a high resolying
power instrument which make use of the fringes of

equal
{a) Inelinntion ) Amplitude

{¢y Thickness {d} Phase-shift

oot Qubrms @psd Gellemaporall e
Eraygfner gmel ——— [Bf Fowmnen &mdy
LU EEEREE-
(o] ETLISY

(E) o F) sl wmhmb

(-gg) afids

The technique by which image is obtained from a
hologram is called ag

{a} Formation

b Construction

i} Reconstruchion

(di Projection

g oeluflorenailudia FiEsbs uld@msl Guge
EUUh —————— e e pdeiu .

fel)  RmaETEELh (P TR Tl (T = ]

) wpel Fumanh {w] Al

2 S.No. 2103

How many lensos are used in Freanel Diffraction?

{n)  Two Convex lenses
(h} Two Concave lenses
it} Ome Convex lens

{d} Nolens aaed

Sl aflaflinyg afevaray Songenemii o ks
s auSaT LS s Lo EE e 7

) Eremd salfs Cudadosds

[ofy) ErerE @gierar Gosmsms
) @i @ihe adssdr

() wesdme uudruBgsliuLsiidee

In the case of Fraunhofor diffraction at'a narrow
rectangulnr aperture

E -
{a) ﬂ-“; by 4

Fle olf

I:I'."} = E I::E_:l A=
4]

g wpdyu Gedeas Feaendd  SSgmdkanelod
alehasdy sTERLIS

I} ax
=— A=—
(=] A 0N o
D a
- a1 B
m 4 - i
3 =.Mo, 2103



A light is 5 .
;w vector is mrywhe:e “mnhﬂmdm :n'h:rm:::
2)  umpolarized

k) plane polarized

(e}  circularly polarized

(@ elliptically polarized

a5 sefl adug B, @
e Gl i erban o bsfg ;ﬁﬁp gamb, 2
() apEreEeslnnE

Ify) B panaEapt

@ enLnrs gpepanayhn
(=] EBamaali ors ppeerayto

4 S.No. 2103

10

property of rotating the pla i
::;:ﬂ-dlh;hlhhmhn MO ol i of

) Helraction
id]' ona n.flll.! Abore
app pofide afdide sepas spsgy

() geent Erwudiumy
) gﬂﬂﬁlﬁ
@ ﬂa‘uﬂhm
et Copesfuee ogaplaes
In Nicol prism two parts of the crystal are
cemented together with —— layer.
i) Canada balsam  (d} Glycerin
sCamd ppUulLs ussild BrarR csbes
femi)  smeinCemnis () Haidas
() seRLm UT@SD il Betefid
The aberration that occurs due to dispersion of

light are called sberration.
(a) monochromatic (b} coma
(@ distortion () slenmel
5 S No 1165
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12,

geflufldn  Lpausd  aspeamInE ghu@s  Enpe
Amey erenp sespssuuEEing.

) gl et (g} RaTion

i) ilesd [F] ST e

The coma can be eliminated if a lons satisfied
condition.

(a} Snell's (b) Abbe's sine

(ch (rauss () Mewton's

g e st Buppemarau shEsgm

Gumorme Bds npguh

femt)  Suldardsay {oi) Birich anEeT

g () EIEAe ek

The power of Huypens' eyepiocs is
(b  positive
{c} amall {di zero

eanageilar s .ﬁ@@.ﬂﬂd}mmuﬂﬁ' Simar

fa) negative

(o) Cmiaafl
i) s

e} et
(@) #peod
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13, The Numerical Aperture (N.A.) is dependent only

4.

il of the core and clad
materials,
g} The angle of refraction

{b) The refractive ndices

ey Soell's law

id) Multiple reflection

cravesTemapbgeneT  memtmb gD eaple
BumEsafigh ——— HurEiEg.

[oly)  Epflehlpomen Gmmanrd:

e e

i eoandicier o8

i) e Srduefiog

What is the principle of fbre optical
comm muication?

(a} Freguency modulation

(b} Population inversion

fcd  Total internal reflection

{d} Doppler Effect
T SNo. 2103




aswarTy, @i pead BEn i EESand st

17. Iﬁ.ﬁmﬁnhhmdudﬂunhﬁ-iﬂrtﬁ‘

[ fs) omfloCoae Leslignn
! peedy dgres iﬁmﬁﬂm i
B amp e Sl 18, Describe the Nicol prism and explain how it can
(™) LrOEd oy work as analyzer und polarmes?

15 T'hnﬂ-mduluﬂalmnhimmmritmdh meﬂ.m
{a}) data links meﬂ

1% What is coma® Hew this can be remored?

b telephons links
Samar Sdpng sdrer? Fas Fhun §66 npnad

i)  under water cables

(d) earthlings fiber 20. What are the difference betwesn step index fihes
SrouBAs . @mdSCH  ue AP SelrarTe and graded index fikea?
Bop LU B sl m gy an Ly sedrars Sheys L S
CSl  Erey e B T, - TR
() Serewlod Beoenysdr l "o nh?
B perafEis sogdd s0Ban Lss SECTION C— (5 » 10 = 50 marks)
(%] A iy saimarms, By ; ALL 5
SECTION B — (2 x 5= 10 marks) ' 21, =) Demﬁhunﬂnmmmd—rmu
Answer any TWO questions, the thickness of the thin wire.
J Bisdlln EeiGdia
I6.  Write a short note on temparal coherence. ui‘:l'l'-,:lllm cipel aflasd - -
=rd gidesa upd Aoy mldmi g O
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21,

e @

Describe the construction and working of
Febry-FPerab intepferomelar.

sl Guders spedll alemaunnalc
ot wppnd  Geuea Celmel i pehy sfgbemng
ailea,

fa) With necessary dizgram explain  the
Fraunhaffer diffraction at double slits,

G L e i IR BRI iy
Bl Seray sisflong sy Ll e,

Or

(k) Explain the principal of a zone plate. How

they are construcked? Give its theory,

G warLegs giad gipafes dasga
BERL ETELELITY e s L (Bidra e sreTLIn
e

{a) What is double refraction? Give the Huygons

theory of double refraction in uniaxial
Ceyatal.

Brime pfldfess eapsd aderr Grés
ugs Briee gabalosd updu aogSgdd
dardransaoni aflad],

e

10 S.No. 2103

24,

2,

(b)

{a)

{b)

(a)

{bi

Describe the experiment find the FDig
mtatar power of sugar solution by Laureht's

half shade polarimeter.
RTFTC g sy Sl giEeipeneT  RpaiD
shdmany - Songaclen siph#l

PGLL
saE_ gl Tengmanma aanfl.
Discuss the spherical sberration in a lens.
How this can be minimized?

m Sedneiey Gerar wrgon bl e,
%“‘F g @eopks gpwayh?

O

Explain  the construction of Fameden
avepiece. Why eannol & cress-wire be used
with it?
Trber & St ssmepdidienay omepoly Ll

aiflaraEs, s &y s Sleo e
i P

Etpllntn the total internal reflection
providing the approprinte depivations,

Pl <2us Srdod i efeflge ssbe
;mhMLﬂmﬁsﬁ.—I i e o

Or
Explain in detail fiber optic communication
system.
SSEETE |
vt Bewp UsmenwBzn my upd S flams
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